Model Questions for the Asst.Cashier Clerical Gr.ll Examination

General Knowledge = 20 marks
Mathematics 40 marks
Basic Computer Knowledge 40 marks

Total 100 marks

Please Tick the right answer.

The playground of lawn tennis is called

> =

Court
3. Ring
C. 'Arena
). Rink

2. The unit of current is

A. ohm
B watt
- C. ampere

'ID. None of the above

Ais 40% of B. wimt pucuziasﬁ&, is B of A?

3.
A 60%
B, 140%
C. 250% .
D, 160%
4.  Look at this series: 36, 34, 30, 28, 24, ... What number should come
next? |
AL 20
B. 22
- C. 30
. 26
If a sum of money becomes thrlce in 20 years,at simple interest, then the

Y

rate of interest is ?

A 20%
B. 10%
C. 25%
D. 15%
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20%
30%
25%
50%

Which key on keyboard of a computer does not have its name printed

on the key?
ESC

SHIFT

Fl1

SPACE

The horizontal and vertical lines on a spreadsheet are called:

Cells
Sheets
Block lines
Grid-lines

LAN stands for?

Last Affordable Network
Local Area Network
Latency Around Netwok
Leased Area Network

A collection of 8 bits is called
Byte

Record
. Word
D.

Nibble

A shopkeeper professes to sell his goods at cost price but uses a weight of
800gm instead of 1kg. thus he makes a profit of?





